
EE3610 Signals and Systems  Spring 2008 

Homework No. 7-1 
Due 13:10, May 14, 2008 

 
1. Consider the following two signals 
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(2) Compute and draw the periodic convolution of [ ] [ ]1  and 2x n x% % n . (25%) 

(3) Compute and draw the 5-point circular convolution of [ ] [ ]1 2 and x n x n . 

(25%) 

(4) Compute and draw the 9-point circular convolution of [ ] [ ]1 2 and x n x n . 

(25%) 
 
(5) Compare the results of (1) and (4). (10%) 

 

Note: N-point circular convolution of [ ] [ ]1  and 2x n x n  is defined as:  
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